# **Kennedy Baptist College**



**YEAR TEN** 2025 25 960 10 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "XQW2" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$5.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$17.50. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 help@campion.com.au

	$\downarrow$				
			0		Tatal
0	Decerintian	Item Item	Qt		Total
Office Use	Description	No. Reqd	Rec	d Price \$	Amount \$

#### YEAR TEN

#### **Digital texts:**

Students can access their digital texts by logging into their MyConnect2 account after purchase. We strongly recommend using your school email address to log in before the school year begins.

Further information on MyConnect2 and how to login to the students account can be found at:

https://campion.com.au/find-my-school/

Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged for change your mind.

We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

#### SCHOOL RESOURCES

Computer: All students require a portable computer meeting the College's minimum specifications. (Retain from previous year). Resource fee per student \$95 which will be added to your College invoice.

#### AUSTRALIAN RULES FOOTBALL

Representative singlet, mouthquard and boots required

#### CHINESE SECOND LANGUAGE

P07691	Jinbu 2 (SB Pack Print & Digital + Activity Bk) [Yu Bin]	3	1	97.60	97.60
	Only new students to purchase - please retain the text used in Years 8 & 9				
P06849	Oxford Chinese Dictionary (H/B) [Oxford]	4	1	139.95	139.95
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	5	1	2.15	2.15

#### DANCE

Sports top - Available from College Uniform Shop. Black 3/4 leggings - Compulsory Unisex black Blochs soft leather jazz shoes (compulsory) \$69.95 Black cotton lycra adult energetiks leotard - style AL01 (compulsory, females only) \$35 Flesh body stockings flesh coloured leotard and tights (compulsory, females only) 1x Costume/Garment Bag (compulsory) Shoes, bag and leotard available from Studio Scene: 352 Marmion Street, Melville

#### DANCE (ACROGYM)

Sports top - Available from College Uniform Shop. Black 3/4 leggings (compulsory). Black cotton lycra adult energetiks leotard style AL01 (compulsory, females only) \$35 Flesh body stockings - flesh coloured leotard and tights (compulsory, females only) 1x Costume/garment Bag (compulsory) Shoes, leotard and bag available from Studio Scene: 352 Marmion Street, Melville.

#### **DANCE (SPECIALIST DANCE)**

Sports top - Available from College Uniform Shop. Black 3/4 leggings - Compulsory Unisex black Blochs soft leather laceup jazz shoes (compulsory) \$69.95 Black cotton lycra adult energetiks leotard - style AL01 (compulsory, females only) \$35 Flesh body stockings - flesh coloured leotard and tights (compulsory, females only) 1x Costume/Garment Bag (Compulsory) Shoes, Bag and leotard available from Studio Scene: 352 Marmion Street, Melville

	DESIGN & TECHNOLOGIES (CAD)				
P55447	Display Book A4 20 Pocket Grey Refillable	6	1	2.15	2.15
P50271	Pencil (HB) Goldfaber	7	4	0.65	2.60
	USB Pocket Flash Drive 32GB is required to be brought to each lesson.				
	DESIGN & TECHNOLOGIES (CHILDCARE)				
P55446	Display Book A4 20 Pocket Green Refillable	8	1	2.15	2.15
P56387	Loose Leaf Refills Reinforced A4 7mm Pkt 50	9	1	2.30	2.30
P50271	Pencil (HB) Goldfaber	10	1	0.65	0.65
	DESIGN & TECHNOLOGIES (ENGINEERING)				
P55442	Display Book A4 20 Pocket Black Refillable	11	1	2.15	2.15
P50271	Pencil (HB) Goldfaber	12	2	0.65	1.30
	Genuine Arduino UNO Rev3 Arduino Development Board is required.				
	USB Pocket Flash Drive 32GB is required to be brought to each lesson.				

## Please tick the items required in the box provided $\ \downarrow$

Office Use	Description	ltem No.	Item Regd	Qty Regd	Unit Price \$	Total Amount \$
	DESIGN & TECHNOLOGIES (FABRIC)					
P55442	Display Book A4 20 Pocket Black Refillable	13		1	2.15	2.15
P50271	Pencil (HB) Goldfaber	14		1	0.65	0.65
P56130	Pen Felt Tip Fineliner Black	15		1	2.85	2.85
	During the course students will be asked to provide their own choice individual students sewing materials will be required from Week 1.		s required. /	A drawstrin		
DEE440	DESIGN & TECHNOLOGIES (METAL)	10	_		0.45	0.45
P55442	Display Book A4 20 Pocket Black Refillable	16		1	2.15	2.15
P50271	Pencil (HB) Goldfaber	17		4	0.65	2.60
	DESIGN & TECHNOLOGIES (WOOD)					
P55442	Display Book A4 20 Pocket Black Refillable	18		1	2.15	2.15
P50271	Pencil (HB) Goldfaber	19		4	0.65	2.60
	DIGITAL TECHNOLOGIES (COMPUTER GRAPHICS & DESIG	GN)				
P55443	Display Book A4 20 Pocket Navy Blue Refillable	20		1	2.15	2.15
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	21		1	11.05	11.05
	USB Pocket Flash Drive 32GB is required to be brought to each lesson.					
	DRAMA					
	Drama Uniform: sport shorts/tracksuit pants and house shirt. Available from	n the Colle	ge Uniform S	hop.		
P56679	Visual Art Diary A4 110gsm 100 Sheet	22		. 1	14.95	14.95
	ENGLISH (ALL COURSES)					
P55446	Display Book A4 20 Pocket Green Refillable	23		1	2.15	2.15
P55497	Document Wallet FC Slimpick Red	24		1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	25		3	2.15	6.45
	FRENCH SECOND LANGUAGE					
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	26		1	2.15	2.15
				·	20	20
D11070		00	_	4	70.05	70.05
P11072	Oxford Big Ideas WA Humanities & Soc Sci 10 (Print&Digital) [Saldais]	29		1	72.95	72.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	30		1	1.65	1.65
	MATHEMATICS - EXTENSION/ADVANCED					
P51933	Calculator Abacus Scientific SXIIMATRIXN	31		1	43.95	43.95
	(Only new students need to buy - please retain the one used in Year 9.) Extension stream students only must provide the CAS CASIO Classp		00 calculato	or - see Coll	ege websi	ite if you
	wish to order a new CAS calculator. Other options are available to ord Students will be provided with access to Cambridge Essential Mathematics		econd Editio			
P54143	Graph Book A4 96 Page 5mm Spirax #131	310/107 (C	_	4	2.00	8.00
P56409	Ruler 150mm Plastic Clear	33		- 1	0.85	0.85
	MATHEMATICS - FOUNDATION					
	Students will be provided with access to Essential Mathematics 10 Gold te Students will not use the CAS CASIO Classpad FX-CP400 calculator.	xt and/or D	evelopmenta	l Mathemati	cs resourc	es.
P51933	Calculator Abacus Scientific SXIIMATRIXN	34		1	43.95	43.95
	(Only new students need to buy - please retain the one used in Year 9.)					
P54143	Graph Book A4 96 Page 5mm Spirax #131	35		4	2.00	8.00
					0.85	

### Please tick the items required in the box provided $\downarrow$

	Please lick the items required in the	SON PI		$\checkmark$		
Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS - GENERAL					
	Students will be provided with access to Cambridge Essential Mathematics Students will not use the CAS CASIO Classpad FX-CP400 calculator.	10 Gold (	Second Edition	on) resources	5.	
P51933	Calculator Abacus Scientific SXIIMATRIXN	37		1	43.95	43.95
	(Only new students need to buy - please retain the one used in Year 9.)					
P54143	Graph Book A4 96 Page 5mm Spirax #131	38		4	2.00	8.00
P56409	Ruler 150mm Plastic Clear	39		1	0.85	0.85
	MEDIA ARTS (ANIMATION)					
	Students are encouraged to have a USB for this subject					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	40		1	14.05	14.05
	MEDIA ARTS (MEDIA) Students are encouraged to have a USB for this subject					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	41		1	14.05	14.05
			_			
	MEDIA ARTS (PHOTOGRAPHY)					
P52086	Students are encouraged to have a USB for this subject USB Pocket Flash Drive 32GB - NO RETURNS	42		1	14.05	14.05
F32000	USB Pocket Flash Drive 32GB - NO RETURNS	42		1	14.05	14.05
	MUSIC (GENERAL MUSIC)					
P55442	Display Book A4 20 Pocket Black Refillable	43		1	2.15	2.15
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	44		1	4.10	4.10
P52001	Pencil (2B) Goldfaber	45		1	0.65	0.65
	MUSIC (SINGING AND MUSIC)					
P55442	Display Book A4 20 Pocket Black Refillable	46		1	2.15	2.15
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	47		1	4.10	4.10
P52001	Pencil (2B) Goldfaber	48		1	0.65	0.65
	MUSIC (SPECIALIST MUSIC)					
P55442	Display Book A4 20 Pocket Black Refillable	49		1	2.15	2.15
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	50		1	4.10	4.10
P52001	Pencil (2B) Goldfaber	51		1	0.65	0.65
	OUTDOOR RECREATION					
	Snorkel, mask and fins required. Wet suit is highly recommended.					
	PHYSICAL FITNESS Road bicycle and helmet required. Goggles and towel.					
	SCIENCE (ALL COURSES)					
	Year 10 students are not expected to purchase a textbook for Science. The		Department v	-		
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	52		3	2.15	6.45
	VISUAL ARTS (CERAMICS)					
P55522	Eraser Plastic Pencil Economy in sleeve	53		1	0.70	0.70
P50130	Glue Stick 40gm UHU	54		1	3.40	3.40
P52001	Pencil (2B) Goldfaber	55		2	0.65	1.30
P56245	Sharpener Pencil Metal Single Hole (HQ)	56		1	0.90	0.90
P56694	Visual Art Diary A4 60 Sheet Project Book	57		1	15.25	15.25

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS (FINE)		_			
P55515	Eraser Artist Kneadable	58		1	2.55	2.55
P55522	Eraser Plastic Pencil Economy in sleeve	59		1	0.70	0.70
P50130	Glue Stick 40gm UHU	60		1	3.40	3.40
P56081	Marker Artline #200 Black 0.4mm	61		1	3.80	3.80
P52001	Pencil (2B) Goldfaber	62		2	0.65	1.30
P52013	Pencil (4B) Goldfaber	63		2	0.65	1.30
P56245	Sharpener Pencil Metal Single Hole (HQ)	64		1	0.90	0.90
P56694	Visual Art Diary A4 60 Sheet Project Book	65		1	15.25	15.25
	VISUAL ARTS (GENERAL ART)					
P55522	Eraser Plastic Pencil Economy in sleeve	66		1	0.70	0.70
P50130	Glue Stick 40gm UHU	67		1	3.40	3.40
P52001	Pencil (2B) Goldfaber	68		2	0.65	1.30
P56245	Sharpener Pencil Metal Single Hole (HQ)	69		1	0.90	0.90
P56694	Visual Art Diary A4 60 Sheet Project Book	70		1	15.25	15.25
	VISUAL ARTS (GRAPHIC ART)					
P55522	Eraser Plastic Pencil Economy in sleeve	71		1	0.70	0.70
P50130	Glue Stick 40gm UHU	72		1	3.40	3.40
P56081	Marker Artline #200 Black 0.4mm	73		2	3.80	7.60
P56115	Marker Artline #210 Black 0.6mm	74		2	3.80	7.60
P52001	Pencil (2B) Goldfaber	75		2	0.65	1.30
P56414	Ruler 300mm Plastic Clear	76		1	0.75	0.75
P56245	Sharpener Pencil Metal Single Hole (HQ)	77		1	0.90	0.90
P56694	Visual Art Diary A4 60 Sheet Project Book	78		1	15.25	15.25
	STATIONERY REQUIREMENTS					
	Computer: All students require a portable computer meeting the C	ollege's mini	num specif	ications. (Re	atain from	previous
P55522	year). Stationery may be retained from previous years.	70		1	0.70	0.70
P51353	Eraser Plastic Pencil Economy in sleeve	79 80		1	0.70	0.70
P51464	Glue Stick 40gm Artline Purple			1	2.75	2.75
P56095	Headphones Stereo Deluxe Lightweight with Volume Control	81 82		1 2	11.05 0.35	11.05 0.70
P56096	Pen Ballpoint Cap Type Blue Medium	83		2		0.70
P56252	Pen Ballpoint Cap Type Red Medium Pencils-Coloured 12's Colourush	83 84		2	0.35 4.60	4.60
P50271	Pencil (HB) Goldfaber	85		2	4.00 0.65	4.00 1.30
P56353	Protractor 10 cm 180 4" Half Circle	86		2	0.05	0.45
P50465	Scissors 216mm Orange Handle	80 87		1	3.00	3.00
P56245	Scissors 2 formit orange Handle Sharpener Pencil Metal Single Hole (HQ)	88		1	0.90	0.90
P56562		89		1		
P55572	Stapler #10 Plus Staples File Expanding Poly 12 Pocket Foolscap			1	4.65	4.65
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	90 01			23.95	23.95
P51892		91 92		1	14.05 9.05	14.05 9.05
101092	Flash Cards Blank 300gsm 103mm x 203mm Pkt 100 These document wallets are used for each subject at school. Please pu	urchase 5 diffe	rent colours			
P51505	used for storing paper items such as exercise books, worksheets, and a Document Wallet A4 Polynick Heavy Duty Black	note pages. 93		2	8.15	16.30
P51506	Document Wallet A4 Polypick Heavy Duty Black	93 94		2	8.15	8.15
P51508	Document Wallet A4 Polypick Heavy Duty Blue Document Wallet A4 Polypick Heavy Duty Lime	94 95		1	8.15	8.15 8.15
P51507	Document Wallet A4 Polypick Heavy Duty Line Document Wallet A4 Polypick Heavy Duty Pink	95 96		1	8.15	8.15 8.15
P51507		96 97		1	8.15	
101003	Document Wallet A4 Polypick Heavy Duty Purple Please purchase files in 5 different colours. The files remain at home a		organise su			8.15 colours
DEEOOO	should match your document wallets for each subject.		-	-		
P55098	Lever Arch File A4 70mm PE Black	98		1	8.40	8.40
P50454	Lever Arch File A4 70mm PE Blue	99		1	8.40	8.40

### Please tick the items required in the box provided $\downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P55100	Lever Arch File A4 70mm PE Green	100		1	8.40	8.40
P52792	Lever Arch File A4 70mm PE Pink	101		1	8.40	8.40
P51931	Lever Arch File A4 70mm PE Purple	102		1	8.40	8.40
[	Ruler		<u>Choose One</u>			
P56414	Ruler 300mm Plastic Clear	103		1	0.75	0.75
	- OR -					
P50090	Ruler 300mm Wooden	104		1	1.10	1.10

Number of Boxes ticked:

\$5.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 05/11/24)

Postage (Home delivery only)

\$

(PRICES CORRECT AT 05/11/24)